RAAKRBRICIDAHEIARERKEEOEE EERE

FH24%F 9F 78 17:00~
AZEETERER RRESS

1. BELHIVED 00 seeeeiiiiiaean B = RERTIRE B

2. g%gﬂgﬁ .............. 17-05~
O EFRERGEEBR) - BHE [T T REBF

3. EEEE

4. BAEHINED 0000 esirsissaneass B = [ERTRIE RS






= Ly 5 7] 0 =5
FEEZENER (1/2) 8=1:100
28NO. 4358
GH= 4.09
10100
P00 3000 500 1799 1002 6600 500 1394
e e
ERILE 707 - EDZY
=% TP+8.70 ] TR A IS S oL« . ] e
Lo Je0 | &
ETeDre - n 78
- / \ [ =
5003000 50 REBEIT (BH) B H (RC-40) 3 | B IOF t5ca
I | _LWABT
| | B LBIES . ESARERA t=tom
‘ ‘ #ELIOYY & W2V U—F \_FHRET
| (ERF - =T
\ j ~ L masmea0) ~l
0 anyy—
L TP+2.20 |
; F PR
LH, HW.L TP+1.50 TR Lis Ui .
HW.L TP40.70 -
e BEEENE wE
DL=-5. 00
ZBNU.,Q,ﬁﬂi
GH= 3.
[
0 2000 500 500
At
_@M_\i#.l
AR 1P+8.70 LO%_ 700
o s | — §
WAaLH Y= ————— =
5 B Q2 )
003000 0 ty LSt BiES WA R . 08 R MRS 20 E=5m
| | (\_EMBRET N,
| __BHLEIEH WAL t=bn
‘ ‘ & T ERAaLsU—h LT:?%% —
[ | g R 5t (ro-40) Vol
| ma 3 1,70 i A Jl“?'l 3
HHW.L TP+1.50 - t“ i
TR 705 [mwmE_ 50/
7 HI,L::::;? BUEENE c0 _'<!|!_1L£,F| ==
X IFES
50720
50/25 [T R={ 50117 &
50720 | _Js0/23 BIRZ X58  W=ER
wTavou—*t B
{50725 — 5078 EE EWET ﬁm
DL=-5.00 . 50/22 0715 N
X = Ll LT
. 50/10 50/23
50/19 111 .J50/9 L] R Fl:100 iz & '.‘.ﬁé 1
50726 BIE ﬁf‘f
A , e : . E B R ‘-‘/’* “/“




EIREMER (2/2) 5=1:100

28NO. 144435

Gh= 3. 61

i
m
% TP, T0
Wdaryu=
o i ET (A3 -l mRHED
| 291 H LR5EH S
| o »2y=*
| E pg? det 5‘ b7k
= 3 | msat (r0-40)
i e ) =
220 | i mnpmmy/| Nl M
HHW.L TP+1.50 7a:
WL 2::002 SEEENY A
TIP—0. 50/1
30/10
30/10
Taxgu—t 50/8
DL=-5.00 5150 2
30/20
50/5

Bemiz
%5 7 % IsEN
_TOBAMETPL00 /
: ) RINE | FE8 AR |
3 . i E 7 |
I® 4% |78 58
=71 I
E & %2 | BARSKEDQ2
B R| S0 [EENO.S
~NO. 14
EWE 32
v , v " B E ¥ & E 3 n/“ “/“




	１
	２
	３ (1)
	４

